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WORD OF THE DAY

Combative

(adjective.) :“1STeh: Ready or eager to
fight or argue.

Synonyms: Pugnacious , Aggressive

Antonyms: Kind , Peace-loving



WORD OF THE DAY IMAGE

madness combat
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SBI MEMORY BASED PAPER
DISCUSSION




A sentence with one blank is given, indicating that

something has been omitted. Choose the word that
best fits in the blank making the sentence

grammatically correct and meaningful.



Q1. security checks were put in place
by the airport authorities.

A. Blow

B. Random

C. Despite

D. Amidst

E. None of the above

Ans. B



Q2. There were 2000 applicants but only
one-eighth of them were ---———- for
the interview.

A. Recruited

B. Enrolled

C. Shortlisted

D. Terminated

E. None of the above

Ans. C.



Q3. It is one of the best

teams, the

company has ever.........

A. Drew

B. Available
C. Seen

D. Reveal
E. Clicked

Ans. C.




Q4. The letter has been written
UNIQUE covvvvnnenns

A. Marker

B. Conditions

C. Parallel

D. Mystery

E. Style

Ans. E

in a very




In the following question, a word is given along
with its usage in sentences given in the options.
Choose the option in which the use of the given

word is contextually and grammatically correct.



QS. Strength

I. Most of the old part of the city was strengthened by
bombs during the war.

II. Her speech was full of excuses and evasions and
never properly strengthened the issue.

III. He showed great strength of character when he
refused to accept the bribes.

A.OnlyI

B. Only I1

C. Only III

D.BothI & 11

E. None of the above

Ans. C.



Q6. Bother

I. They went to a lot of trouble for their dinner party,
but half the guests didn't bother to turn up.

I1. He bothered the man with a broken bottle and left
the man seriously injured.

II1. The noise was beginning to bother us, so we left.

A.OnlyI

B. Only IT

C. Only II1

D. Both I & I11

E. None of the above

Ans. D.



Rearrange the following five segments (A), (B),

(C), (D) and (E) in the proper sequence to form
a meaningful paragraph; then answer the
questions given below them.



A: Duryodhana was a wicked prince.

B: one day Bhima made Duryodhana fall from a tree from
which Duryodhana was stealing fruits.

C : He did not like that Pandavas should be loved and
respected by the people of Hastinapur

D : Duryodhana specially hated Bhima.

E: Among the Pandavas, Bhima was extraordinary strong and
powerful

F: This enraged Duryodhana so much that he began to think

of removing Bhima from his way.



7. Which of the following would be the
FOURTH sentence after
rearrangement?

1. A

2.B

3.C

4. D

S. E

The correct passage is: ACEBDF.



8. Which of the following would be the FIRST
sentence after rearrangement?

1. A

2.B

3.C

4.D

S.E

The correct passage is: ACEBDF.



9. Which of the following would be the
SECOND sentence after
rearrangement?

1. A

2.B

3.C

4.D

S.E

The correct passage is: ACEBDF.



10. Which of the following would be the LAST
sentence after rearrangement?

1. A

2.B

3.F

4.D

S.E

The correct passage is: ACEBDF.



11. Which of the following would be the
THIRD sentence after rearrangement?
1. A
2.B
3.F
4.D
S. E

The correct passage is: ACEBDF.



A passage is given below with five blanks
labelled (1)-(5). Below the passage, four
options are given for each blank. Choose
the word that fits each blank most
appropriately in the context of the passage,
and mark the corresponding answer



India with its 600 universities and 35,000 colleges is the
third...(1)...education system in the world. But 68 per cent of
these universities and 73 per cent of colleges are...(2)...to be
medium or low quality by Indian standard itself. With a severe
shortage of quality higher education institutions, India faces
the challenge of educating nearly 30 per cent of its 1.1 billion
people. Certainly, India requires many more institutions of
higher...(3)...since nearly 100 million students are going to the
next 10 years. In such a scenario improving the standards
of...(4)...universities and establishing quality institutions should
be our priority.

Steps should be...(5)...to reduce the disconnect between higher
education institutions and industry requirements. The
possibilities of private sector contributions in higher education
should be fully exploited. The practice of big business houses
and philanthropists promoting quality universities in the west
could be...(6)...in india. But before initiating such private sector
participation in higher education the government should
ensure that there are proper checks and controls on the
activities of such entities. Also it is our recent experience that
the mushrooming of substandard schools
and...(7)...universities...(8)...resulted in the deterioration of



Utpgrading the higher education sector especially in terms
of patents filed and cutting edge research output is
essential in improving India's global ranking. Our
sustainable economic development depends on human
resources. A quality higher education base is
essential...(9)...reap full benefits of our demographic
dividend. In its mission to redress inefficiencies in higher
education, the strategies of the 12th plan focus on
technical education, distance learning, quality research,
infrastructure, faculty and curriculum content.
Wholehearted, coordinated efforts of the government
departments and the private sector are needed
to...(10)...the plan's education goals.



India with its 600 universities and 35,000 colleges is the
third...(1)...education system in the world. But 68 per cent of
these universities and 73 per cent of colleges are...(2)...to be
medium or low quality by Indian standard itself. With a severe
shortage of quality higher education institutions, India faces the
challenge of educating nearly 30 per cent of its 1.1 billion people.
Certainly, India requires many more institutions of
higher...(3)...since nearly 100 million students are going to the

next 10 years. In such a scenario improving the standards
of...(4)...universities and establishing quality m should

be our priority. r (2) large
' (3) larger
(4) bigger

(5) affluent



India with its 600 universities and 35,000 colleges is the
third...(1)...education system in the world. But 68 per cent of
these universities and 73 per cent of colleges are...(2)...to be
medium or low quality by Indian standard itself. With a severe
shortage of quality higher education institutions, India faces the
challenge of educating nearly 30 per cent of its 1.1 billion people.
Certainly, India requires many more institutions of
higher...(3)...since nearly 100 million students are going to the
next 10 years. In such a scenario improving the standards

of...(4)...universities and establishing qualitylhfoéinggdns should

(3) finding
(4) being found
(5) been founded

be our priority.




India with its 600 universities and 35,000 colleges is the
third...(1)...education system in the world. But 68 per cent of
these universities and 73 per cent of colleges are...(2)...to be
medium or low quality by Indian standard itself. With a severe
shortage of quality higher education institutions, India faces the
challenge of educating nearly 30 per cent of its 1.1 billion people.
Certainly, India requires many more institutions of
higher...(3)...since nearly 100 million students are going to the
next 10 years. In such a scenario improving the standards

of...(4)...universities and establishing quality(imymions should
(3) played

(4) paid

(S) paying

be our priority.




India with its 600 universities and 35,000 colleges is the
third...(1)...education system in the world. But 68 per cent of
these universities and 73 per cent of colleges are...(2)...to be
medium or low quality by Indian standard itself. With a severe
shortage of quality higher education institutions, India faces the
challenge of educating nearly 30 per cent of its 1.1 billion people.
Certainly, India requires many more institutions of
higher...(3)...since nearly 100 million students are going to the
next 10 years. In such a scenario improving the standards

of...(4)...universities and establishing quality—=ins$itutions should

(2) existed
(3) perished
(4) excellent
(5) exciting



Steps should be...(5)...to reduce the disconnect between higher
education institutions and industry requirements. The
possibilities of private sector contributions in higher education
should be fully exploited. The practice of big business houses
and philanthropists promoting quality universities in the west
could be...(6)...in india. But before initiating such private sector
participation in higher education the government should ensure
that there are proper checks and controls on the activities of
such entities. Also it is our recent experience that the
mushrooming of substandard schools
and...(7)...universities...(8)...resulted in the deterioration of

educational standards in India. 1) take
r * (2) took

FOUEDY

(4) stopped

(5) forwarded



Steps should be...(5)...to reduce the disconnect between
higher education institutions and industry requirements.
The possibilities of private sector contributions in higher
education should be fully exploited. The practice of big
business houses and philanthropists promoting quality
universities in the west could be...(6)...in india. But before
initiating such private sector participation in higher
education the government should ensure that there are
proper checks and controls on the activities of such entities.
Also it is our recent experience that the mushrooming of
substandard schools and...(7)...universities...(8)...resulted in
the deterioration of educational standards in {hdiepeated

r — (2) replicated

: (3) copying

(4) repeating

(5) replicating



Steps should be...(5)...t0 reduce the disconnect between
higher education institutions and industry requirements. The
possibilities of private sector contributions in higher
education should be fully exploited. The practice of big
business houses and philanthropists promoting quality
universities in the west could be...(6)...in india. But before
initiating such private sector participation in higher
education the government should ensure that there are
proper checks and controls on the activities of such entities.
Also it is our recent experience that the mushrooming of
substandard schools and...(7)...universities...(8)...resulted in

the deterioration of educational stand4£8) dacme:

(2) deeming

(3) dreaming
(4) dreamt
(5) dreemful




Steps should be...(5)...to0 reduce the disconnect between
higher education institutions and industry requirements.
The possibilities of private sector contributions in higher
education should be fully exploited. The practice of big
business houses and philanthropists promoting quality
universities in the west could be...(6)...in india. But before
initiating such private sector participation in higher
education the government should ensure that there are
proper checks and controls on the activities of such entities.
Also it is our recent experience that the mushrooming of
substandard schools and...(7)...universi 'ﬁ.ﬁ...resulted in
the deterioration of educational standapds-in-india.

(3) has been
(4) have been
(5) would be



Upgrading the higher education sector especially in terms of
patents filed and cutting edge research output is essential in
improving India's global ranking. Our sustainable economic
development depends on human resources. A quality higher
education base is essential...(9)...reap full benefits of our
demographic dividend. In its mission to redress inefficiencies
in higher education, the strategies of the 12th plan focus on
technical education, distance learning, quality research,
infrastructure. faculty and curriculum  content.
Wholehearted, coordinated efforts of the government
departments and the private sector are neet(ied to...(10)...the

plan's education goals. 1) for
(2) in

(4) with
(S)by




10.

Upgrading the higher education sector especially in terms of
patents filed and cutting edge research output is essential in
improving India's global ranking. Our sustainable economic
development depends on human resources. A quality higher
education base is essential...(9)...reap full benefits of our
demographic dividend. In its mission to redress inefficiencies
in higher education, the strategies of the 12th plan focus on
technical education, distance learning, quality research,
infrastructure. faculty and curriculum  content.
Wholehearted, coordinated efforts of the government

departments and the private sector are.needed to...(10)...the
plan's education goals.

(2) realizing

(3) understand

(4) achieving
(5) realized




i)

I' HOME WORK ANSWER

Various feminist artists have been

portraying goal of [Feminist art

and transform the

existing stereotypes.
(a) To effect cultural issues.
(b) As to influence cultural attitudes
(c¢) For making a disciplined culture.
(d) With the help of cultural barrier.
(e) None of these.



i)

N

Broken
I. Most heart attacks are broken by blood

clots.

I1. She had an X-ray to see if any of her ribs
were broken.

I1L. If there's anything you don't understand,
I'll be happy to break.

A.Only I B. Only 11 C. Only III

D.Bothl &II E. None of the above






